
 

 

 

Choose correct option                                                                                         [1 X 6 = 6]  

1. The sum of the smallest whole number and the smallest natural number is: 

     (a) 0      (b) 1                    (c) 2          (d)   3       

2. The largest four- digit number having distinct digit is: 

     (a) 9,000      (b) 9,867                   (c) 9,768          (d)   9,876   

3. The product of first five whole number is :      

     (a) 0      (b) 120         (c) 24          (d)   10 

4. The product of the predecessor and successor of 99 is: 

     (a) 9,000      (b) 9,800                   (c) 9,900          (d)   9,988 

5. Which of the following numbers is a perfect square? 

      (a)  2         (b)    4                   (c)    6          (d)     8 

6. The even prime number is: 

     (a) 0      (b) 1                    (c)  2          (d)   3    

Write Answers of given questions.             [1 X 4 = 4] 

7. What are the first three multiples of 7? 

8. Which is the smallest odd prime number? 

9. Which whole number has no predecessor? 

10. Write the successor of 199. 

Solve:  (Any Four)                                                                                               [2 X 4 = 8]   

11. Write the next three natural number after 10999. 

12.  A book exhibition was held for four days in a school. The number of tickets sold at the counter on the 

first, second, third and final day was respectively 1094, 1812, 2050 and 2751. Find the total number of tickets 

sold on all the four days. 

  13. Estimate using general rule:  (i) 730 + 998    (ii) 796 – 314 
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  14. What is the sum of any two (i) Odd numbers?  (ii) Even numbers? 

 15. Express 44 as the sum of two odd primes. 

 16. Arrange the following numbers in descending order: 

       (a) 12098, 12980, 12890, and 12089 

 

 17. State whether the following statements are true or false:   [1 X 7 = 7] 

        (i).The product of three odd numbers is odd. 

        (ii) All prime numbers are odd. 

        (iii) 400 is the predecessor of 399. 

         (iv) 0 is smallest whole number. 

        (v) All whole numbers are natural numbers.  

         (vi) If a number is divisible by 3, it must be divisible by 9. 

        (vii) 1 is the smallest prime number. 

 

 

                                                                                                                                        

                                                                                              

 

 


